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(To be filled up by the candidate by blue/black batl-point pen)
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| INSTRUCTIONS TO CANDIDATES

(Use only blue/black ball-point pen in the space above and on both sides of the Answer Sheet)
1. Within 10 minutes of the issue of the Question Booklet, check the Question Book!et to ensure that it
. contains all the pages in correct sequence and that no page/question is missing. In case of faulty -
Question Booklet bring it 10 the notice of the Superintendent/Invigilators immediately to obtain 4
fresh Question Booklet. |
2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admit Card
witheui its envelope.
3, Aseparnie Answer Sheet is given. It should not be folded or mutitated, A second Answer Sheet
shall not be provided. Oniy the Answer Sheet will be evrluated,
4, Write your Roll Number and Serlal Numbee of the Answer Sheet by pen in the space provided

S.. On mmmmmﬂmrsnm, wriie by pen your Roil Number ir ile space provided at
.lff the circles at the botiom. Also, wherever applictible, write the Question

¢ Set Number in appropriate places.

6. Ne everwriting is allowed In the eniries of Roll No., Question Booklet so. and Set no. (if any}
on OMR sheet and Roil No. and OMR skeet no, on the Question Bookiet,

7. Amy change in the aforesaid eniries is to e verifled by the invighator, arherwise it witl be taken
as unfairmesns. _

8. Each gwestion In thix Booklet Is followed by four alternative answers. For each question, you
are to record the correct option on the Answer Sheet by darkening the appropriate circle in ihe

row of the Antwer Sheal, by pen as mentioned in the guidelines given on ihe

corresponding
first page of the Answer Sheet.

‘9, For each question, darken only ane circle on the Aaswer Sheet. 1f you darken more than one circle
or darken & circle partially, the answer will be treated as incorrect.

10. Nose that 1he answer once fiited in ink cannot be changed. If you do not wish lo attempt a
quesiion, leave all the circles in the corresponding row blank (such question will be awarded
zero morks). : | :

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. Deposit only OMR Answer Sheei at the end of the Test.

13. You are not permitted 1o Jeave the Examination Hall until the end of the Test.

14, If n candidate aempts to use any form of unfair means. he/she shall be biable to such punishment as
the University may determinc and impose on him/her.
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No. of Questions : 150
gyl @ 6T : 150
Time : 2 Hours | Full Marks : 450
anq : 2 U2 quIfE : 450

Note : (1) Attempt as many questions as you can. Each guestion carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
guestion.

mﬁﬁﬁfﬁmmﬁaﬁﬁmﬁzﬁrmaﬁlqﬁaﬁmﬂa(ﬁﬂ]

aﬂm%nﬁmm%ﬁquwmﬂma
g ST e S AT ey -

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest oné.

ah repfers Aepfas @R @8l I b FvRe s, /P

g& ITC % |
01. The slope of the price consumption curve (PCC) for a normal good
will be : .
(1} Negative (2) Vertical
(3) Backward (4) Posiuce
qF G aeg & T ST aqRERT YET F g B
(1) O (2) HATS
(3) 9B & AT (4) HHIHR

02. Engel Curve shows that with increase in money income the quaﬁtity
bought of a normal good

{1} Increases atan increasing rate
(2) Increasesata decreasing rate
(3) Decreases

(4) Remains constant

3 P.T.O.
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03.

(1) % 3T |§ gt & (2) "Tft 37 & @ &
Q) =5 2h & (4) FoT =i 2

The second glass of water generally gives less satisfaction to & thirsty
person. Which law explains this ?

{1} Law of demand

(2) Law of diminishing returns

(3) Law of diminiahing marginal utility

(4] Law of equi-marginal utility

T A @R B T A g e an: g 2 ) s
e 7 Fram 3 orsmfer oyl & 7

(1) W7 &1 frs (2) sfrwer zre Fram

(3) W SuRfvr e R (g) H-THa IeafET R

Demand curve for a Giffen good will be :
(1) Horizontal (2) Vertical |
(3) Sloping downward to right (4) Slaping upward to right

(1) &fer (@) srger -
@) = AR Ay P gsr (a) TRt S F9X Jear man

»
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Consumer's equilibrium point is that where the budget line :
(1) is above the indifference curve
(2) is below the indifference curve

(3} is tangent with the indifference curve
(4) intersect the indifference curve

SqviET B agEE @ g gE ¥ STl 29 I
(1) JeTdiAdT % & P9I B

() waEEE g% B AE B

(3) wﬂﬂmzﬁizﬁrﬂﬁmﬁr%

14) JETEAT T @ R B

For an inferior good, the income elasticity of demand is :

{1} Positive (2) Zero
(3) Negative (4) Infinity
afear gegett B g @ A @ AT B

(1) EATHT (2) =4
(3) TRUTHE (4) AT

The elasticity of substitution between perfect substitutes will be :

(1) Zero (2) Greater than zero
(3) Less than infinity (4} Infinity
wmﬁﬁﬁ%ﬁanﬁwﬁﬁrﬂm:
(1) = 2 TE 9 IS
(3) o o FH (4) ¥
8 P.T.O.
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08,

09,

10.

If elasticity of demand is unitary, marginal revenue will be :

(1) Positive (2) Negative
(3) Zero - (4) Infinity
HOT F A 5 B 9, S e B :
(1) 99T (2) FoTES
(3) 9= (4) ST

Average product will be the maximum when -

(1] Marginal product is less than the average product

(4) Marginal product is greater than the average product
(3} Marginal product is equal to the average product

(4] Marginal product is negative

In which stage will a rational producer produce when aperating under
the law of variable propartions ?

(1) First stape (2) Second state
(3) Third stage {(4) All stages

wﬁﬁm@mnﬁaﬂwﬁﬁm%ﬁmaﬁﬁmmﬂ
SRS HIAT B ?

(1) S99 geen (2) P& v

(3) T e (4) ®Tt e

el
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According to the Cobb-Douglas production function, the factor

- elasticity of substitution is :

(1) Infinity (2] Zero
(3) Equal tounity (4) Any positive constant
ST I BE @ STA A At @ S

(1) =<1 (2) A |
13) FHEE B FUAT @) g ¥ g R i

With increase in output which cost increases continuously :

(1) -Average cost (2) Marginal cost
[3) Fixed cost (4) Variable cost
mmﬂqﬁ;%mﬂa?ﬁ—ﬁwﬁ?ﬁaﬁ%?
(1) ofred a@rFa (2) EETd AT
(3) Rz ar (4) afEcEsha T

In the sﬁort run when the output of a firm increases then its average
fixed cost :

(1) incrcases
(2) decreases

(3) renains constant

(4) first decreascs then increases

e collegedunia:
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14. Which of the following curves is not U-shaped ?
{1] Average cost curve () Marginal cost curve

(3) Average variable cost curves (4} Aﬁmge fixed cost curve

ﬁqﬂﬁqﬁmﬁﬁmuaﬁﬂr@ﬁaﬁ#ﬁﬁm?
(1) e armry Y&y (2) v e e
(3) ahﬂaﬂﬁamﬁammm e RaT arm Tar

18. The concept of marginal cost is related to which of the following ?

(1} Variable cost (2) Fixed cost

(3] Opportunity cost (4) Economic cost
?ﬂﬂmmﬁﬂ%mwmﬁmﬂﬁﬁmﬁmi?
(1) wiEdwsie arm (2) fReT wrry

(3) HAGT =FTT (4) onffE s

16. Which of the following curves expresses price per unit P
(1) Total revenue curve (2) Average revenue curve

(3) Marginal revenue curve {4} None of the abaove

ﬁmﬁ_ﬂﬁﬁ—maﬁnﬁrwﬁmﬂmﬁm%?
(1) T/ A T (2) o\ sirm 3%
(3) HPIT SP @ %) Sugdsa & § 5 T4t
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17. Which is the first necessary condition for a firm to maximise its profit ?

IMﬁﬁmmﬁﬁQMQﬁﬁWmﬁwﬁ?
(] AC=MR ([2) MC=MR (3} MR=AR (4) AC = AR

18. The horizontal line under perfect competition exXpresses !

(i) Average revenue (2) Marginal revenue
(3) Price (4) All the above
qui sfERer & SRR FHEL Yar e HTl 8
(1y 3\ wr™H (2) dET AT
3) e (4) Sudw g+

19. What will be the shape of the demand curve of a firm under perfect
competition 7 |
(1) Harizontal .i2) Vertical

(3} Positively sloped (4) Negatively sloped
@M%mmﬁﬂﬁw—maﬁmﬁm@ﬁ?
(1) &f (2) ST

(3) EWmRTHE TIRT (4) FOMHh P

20. To induce a firm to produce in the short run its minimum price will
be equal to ?

(1) Marginal cost (2} Average variable cost
{(3) Average fixed cost (4) Average total cost

9 PIT‘ o'
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#ﬂmﬂmﬁmﬁﬁﬂmﬁ%ﬁwwﬁmﬁ
FUHT B 7 -

(1) HHr=r &P (2) ofwa sRad=sher s
(3) Mram Rgy ar T ET F @
21. Under what condition the effect of de:ﬁand on price will be greater ?
(1) Shart period {2) Market period
(3) Long peried {4} Secular period
AR % S g7 Siftes ywer Pee Rgfr s ?
(1) 9H™ (2) ET IEfy
(3) Srdeprer (4)  fy-diefepr

42. A monopolist always determines output at that level where the
elasticity of average revenue curve is -

(1) Less than one (2] Equal to one
{3) Greater than one (4) Zero

(1) % | &5 2 % B TOET
8] % & wnfeps 4 g9
43. Price-discrimination will be profitable if in different sub-market the
elasticity of demand is :
(1) Same {2) Different
(3) Less (4] Zero

10
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%—ﬁﬁwmﬁmﬂ%ﬂmﬂﬁﬁﬂﬂmﬁ:

(1) TH "HIA (2) T

(3] *H (4) LH

Who had propounded the concept of selling cost ?

(1} Alfred Marshall (2) Edward Chamberlin
(3) Edwin Cannon {4) Joan Robinson
RS Y 9T @ e R Rer o ?

(1} QEhs Ars (2) wzas AT

(3) wsfas d 4) 9F ofrEs

What is selling cost from the folliowing :
(1) Expenditure on packing

(2) Transportcost

{3) Expenditure on advertisement

(4) Wage paid to the labour

Rrey § & fsg s T 8 7
(1) [ReT 9T =9 (2) uRaes =
(3) Fysmgs 97 =3 (4) s @ & T Aegd

From the following what is not correct regarding oligopoly ?
(1) Indeterminatencss of demand

{2) Price competition

(3) Price rigidity

(4) Interdependence

11 P.T.O.
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27.

SRR & wraeg A P 3 @ o wdt Sd & 7
(1) SP1-a%% 3 AT (2) FHT SRrEHar
(3) T ggar (4) - Sr=arertan

What is not correct regarding assumptions of adding-up problem ?
(1) Constant returns to scale (2] Applicable in the short-run
(3] Perfect competition (4) Risk-free static economy

BT T ) Argare B e ¥ wr gl & o
(1) ¥R & T wfee

(2} SI=wRRr 7§

(3) gof wifar

(@) “faw g At ardfegaay

The marginal revenue productivity of a labour for a firm exXpresses :
(1) Marginal cost of a labour

(2) Demand for labour of a firm
(3) Increase in the marginal productivity of a labour
(4] Marginal wage

mqﬁmm%ﬁqﬁmmmwmmmt:
{1} =W %t g9y o

(2) w9 T s/ iy

(3) =M & dwr ImrEE F s
(4) €W Ao

»
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Rent is paid because supply of land is :

(1) Perfectly elastic (2] Perfectly inelasuc
{3) Elastic (4) More elastic
ST SHIGT RAT S 2 F4ie q9fy # ofif # -

(1) . gelaar dE=r (2) gofaar A=
(3) &raE (4) oIUF e
Change in prices affects :

(1) Gross interest {2) Net Interest

(3) Real interest rate (4} Nominal interest rate
Hidr ¥ gRad gHiiEad & §

(1) /el &ATH (2] & A1

(3] arEias =T =Y @) #Hifgs =1 W

[f two goods, X and Y, are complements, an increase in price of X will
resultin a :

(1) Fall in demand for Y
(2) rise in demand for Y
(3) rise in demand for X
(4) Nochange indemandwrXandyY

RN ag X AN YE I TEE N XS g9 7 e 9
qY : '

(1) Y & 7 e

(2) Y @ AT =@

(3) X = =T S

(4) X <PT vy & 85F1 § g qfigds &8 &

13 P.T.O.
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32. In a household's income increases, other things remaining the same,
its demand for a commodity increases. The increased demand can
be shown by :

(1) Movement along the demand curve

{2) Rightwards move on the demand curve

{3) Leftwards move on the demand curve

(4) Rightwards shift of the demand curve ‘

iy Ty A qg I ¥ aur o Wit qurayg e ¥ O a%g
dir B TG ¥ | awg A g S B gl B on e ¥
(1) =T & |1 9% & Jr|

(2) ®FT 7% # e g8 T«

(3) WrT I 3 A9 ¥ 9X

(4) ®OT @ B T A€ & giade @

33. When a household's income changes, its budget line will also change.
The new budget line :

(1) Will be perpendicular on the onginal

(2] Will be parallel to the original

(3) Will coincide with the original

(4) Will intersect the criginal

ng gy g # oftEds oy B Y et sore amm o ofteds o
¥ 7 wore S Eef

(1) T 9% &= 8rft (2) 9 3 "EEEET

(3) I | B (4) o= B e
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If more is demanded at the same price or same quantity at a higher
price, this fact of demand is known as :

(1} extension of demand (2) increase of demand

(3) contraction of demand {4) decrease in demand

afy I JE 9v TET AT 8 A1 ST E 97 98t "I, 59 a7
HI HIFT H AW ARG B

(1) = T faeariener (2) wiT @ Fx

(3) HIT &1 FHegerda (4) ®T # FEe

A firm's fixed inputs include :
(1} its cash deposit at the bank
(2) 1its plant and eﬁuipmcnts
(3) its work force

(4) raw materials purchased from other firm

afE @ HH HT AT T &

(1) &% # "% 97 |

(2) HD @ w gREd

(3) mﬁa‘ﬁéﬁmﬁmﬁw

(4) T Al § FeA el e %Y

Average fixed cost :

(1} remains the same whatever the level of output
(2) increases as output increases |

(3) diminishes as output increase

(4) shows no pattern

‘18 P.T.O.
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37.

38.

39.

Iaa @l arR

(1) s TH-T WA & IR =® IS
2) 929 IEER & |/ g ®

(3) =TT ICEA B G gl B

(4) F¢ qfitgds g=ffo =t swh ¥

Who has written the 'Economics of Welfare' ?

(1) A.C. Pigou {2} Nicholas Kaldor
(3) Vifredo Pareto {4} Lionel Robbins
‘AT Afe dvpaT am mro Rrel T o

(1) wH. g 2) Taea fest
(3) REEr q@ (4) W oRes
Who propounded the Risk Theory of Profit ?

(1) Hawley (2) Frank H. Knight
{3} J.8. Bain (4) P.A. Samuelson
Ty o) Als gifke’ fras iy ufeaRa &5 == .
(1) @t (2) hiw U9 Twme
(3) Sto THo ¥F - (4) WMogo Fwgews

'‘Rent is that protion of the produce of earth which is paid to the

landlord for the use of the origional and indestructible power of the
soil. |

Who has propounded this definition of rent ?
(1) Alfred Marshall {2) David Ricardo
(3) dJohn F. Due (4) Mrs. Joan Robinson

16
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T B IYF IR FFEs ERT giraiRd & T 7
(1) STShe WIS (2) 2= R
(3) S O% &Y (4) fEw AAfF Weras

Excess demand can be defined as .

(1) Quanitity supplied minus guantity demanded
(2) Quantity demanded plus quantity suppilied
(3) Quantity demanded minus quantity supplied
(4) Quantity supplied plus quantity demanded

Ffates Wi Fr qraiya Ay o gar B -
(1) =T &t gfef oF 7 & =1
(2) A=Y ® =T o gt w5 g
(3) AT #r wiw e qit 7 F=T
(4) =TT W giRt oF " W geT

I elasticity of demand exceeds unity, a fall in price :
(1} Reduces total expenditure (2) Increases total expenditure
(3) Does not affect total expenditure (4) Leads to no expenditure

g% AT i S & "ET gTd 8, O e # Praae
(1) %W =09 e &

(2) =@ =g =Har ¥

(3) HE =T 9T P 9T 7Ol gSA

(4) BrEE gt eRdEER

1 ? PIT.O‘
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43. An input-output isoquant assumes :
(1) Perfect substitutabililty of factors of production
(2) Strict complementarity of factors of production
(3) Limited substitutability of factors of production
(4) Continuous substitutability of factors of production

U FYS-HAGEYE HEETIIE B ¥ ¢

{1) IWRA F BT A QU qEEfeyfed
2) IWEA & &7 W Rgwt HaRm=REd

(3) IR & BT 6 PAfRe geafegied
(4) IS F F W pergE weafeafed

43. The firm's MC curve above AVC is alsoc known as its :

(1) Prodcution frontier (2} Optimum output
(3) Supply curve (4) Cost function
T T W HEea ara e # SR X Y o o ¥
(1) WrEFEs mieay (2) SfewH saTye
(3) swuf am (4] T HHEA
44. A factor has no economic rent whose supply is !
(1} Equal to unity {2) Perfectly elastic
(3) More than unity (4) Perfectly inelastic
TF MY N Ff T g T e 8 Swe angRf & %
(1) wE & FUET (2) guierar @ity
(3) #=ET & qmEr (4) g™ See
18
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48. The MC curve reaches its minimum point before the AVC curve and
the AC curve. In addition, the MC curve intersects the AVC curve and
the AC curve at their lowest point. The above statement are both true :

(1) always (2] never
(3] often (4) sometimes

HiHTT AP 9% AT GAad g 97 AT uiEds & g ®
qed qgEaT & g arT, e aiEdT drE @ @ FEen § 1
st @FE 9% ST9 =EaH fasg @) IgdeR 9 S 99 B
(1) ®sHe (2) =T T
{(3) =/ FHT 4) FTE TE

46. With a constant money supply. Il the demand for money decreases,

the equilibrium interest rate and quantity of money will change in
which of the following ways ?

Interest Rate Quantity of Money
(1) Increase Decrease
(2) Increase No change
(3) Decrease Increase
(4) Decrease No change

IfE Rt e A 9 S @, 7T A H R wE el A 'r |
gT wd g @ A & Frefafem & & Bra g i@ gem ?

=S 3T U I
(1) = il |
(2) = - wr afad
(3) =W gis :
(4) Frd qiads A
.19 P.T.0.
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47.

48.

If an economy is operating with significant unemployment, an increase
in which of the following will most likely cause employment to increase
and interest rate to decrease ?

(1} Purchase of government bonds by the Central Bank
(2) Transfer payments

(3) Government Expenditure

(4] Increase in Reserve Requirement

A% B sdegey meegl (wfts) IR W w=d w7 @ & oA
T & H Ao w7 7 ghx aur =0 33 § 3 1 gad S
HIOT B GHaT & 7

(1) F5 % U G avs #H Ba
(2) sEEIT PR

(3) WEEE =g

(4) =& smavgmwar # gha

Which of the following is NOT a feature of New classical Economics ?
(1) [t believes that equilibrium is a normal state of affairs

(2] It is based on general equilibrium analysis

(3) It takes the assumption of adaptive expectations

{(4) It talks about supply side business cycles.

Fr=fefere # § 29 oftr anftls ovefsmer o Rrdiar =4t & -
(1) 9% 79T B & O g% §Eg ot B

(2) T® AP WgeH Reeer 97 smaiha ®
(3) ¥& GHY 9¥g S9N F HEGAr odr 8
(4) TE qict QW =R =W 9% ST 95 & 99 s B
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49. [f Average Propensity te save [s/y) is given b}',t,

S = saving, y = Real Disposable income, v = Prerious peak Income, a_
and a, = coustnats, it shows :

(1) Llife cycle Hypothesis

{2) Tohinis Wealth Hypothesis

(3) Dusenberry's Relative Income Hypothesis

(4) None of these

==f. T 5‘, where,

nﬁaﬂﬁawaqgﬁr[smﬁﬁrmﬂﬁmt%%ﬂ.%aﬁ

S = 996, y = JRda® A% 4rg 3, ¢ = e 3= oy 'R ™
a0 O a, HAY & O & WaRia Far #

(1) s o%F qitseT

(2) oM & u= /dufe aREear

(3) IO a8 & anfEE A aREeIET

4) Sl F F FHE A

50. As per the New Keynesian Rational Expectations Approach short run

Phillips curve is :
(1) Vertical {2) Horizental
(3) Downward sloping (4) Upward sloping

4T ST RYsdT T gieHT § T sreawE R
¥ BT B

(1) I (2) &R

(@) = B A e gam (4] FHUAT ISaT FIAT

21 P.T.O.
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51.

52.

When an economy is at full employment, which of the following will
most likely create demand pul! inflation in the short run ?

(1] An increase in discount rate

(2] A decrease in real rate of interest
(3) A decrease in government spending
(4] Both 1 and 2

aft g srderaeen gof Ao @ 97 § A Pefiae ¥ § D O
T gor T B oTEE F O 1 waAiEE H9E FRer &9 7

(1) g2 A X | gfa

(2) Tr=IEE =[O g7 7 FHA
(3) HHI =99 ¥ Al

4) 1 9g 2 &t

Which of the following National Income Identities is NOT Correct ?
(1} NNP_, = NNP,, - (Indirect Taxes + Subsidies)

(2) NNP,, = GNP, - Depreciation _

(3) NNP.. = GNP, - Depreciation - Indirect Taxes + Subsidis

(4) All are correct |

U A § HeEifea Freafafan & § A qf 96 & 7

1) LD, = T - (o e )
(2) wr.oFd. .= ofaAd,
(3) QT‘I"-I,T-l'tﬁ' . Eﬂ'rﬁ.ﬁ.mﬂ - ¥I9 Eﬂ:[ - IR !F{ o

qEiad
(4) A 9Er B

23
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83. The classical Aggregate Demand Curve drawn with respect to price is !
(1) Linear
(2) Vertical
(3] Downward sloping Rectangular Hyperbola
{4) Uncertain

m%ﬂzﬁﬁ@mwmﬂmﬁﬂmﬁmm
(1) =G

(2) I

3) o 2 oic Preon g HRETERR SAIEET T
4) SR

84. As per the permanent income hypothesis Cp=k(i,w,n} Yp where i, w
and u denote :

(1) Income, wealth and utility
{2) Rate of interest, wealth and taste & preferences

(3) Rate of interest, Ratio of Non human wealth to income and taste
& preference

(4) None of the above

I ST SR B TIEIR Cp=k{i,w,n) Yp T8 p i, wTd u HT:
gafRfe & ¥

(1) I, dofta oF IeAE

(2} = &Y, dufer oar @ oF 954

(3) mﬁ,hmﬁqﬁaqﬁmmmmﬁanﬂ
(@) Igdea 7 & PE A

2 3 PIT'D-I
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T YT @ A-chfre oUW WIeY $ HIER TR B AR
g8 a= AR @Al & 99

(1) aFg FA<0 2 0 F {E99 FAR <0
(2) TEF FUA < 0 T HEA FHATHA <0
(3) a& FA<<E 2 0 ¢ YT FUS > 0
(4) TE FT=IE =0 Ug Fud FEA =0

According to the monetarist theory of inflation 1n any

do/dt  dM'/dt  dy/dt
gconomy” p""‘ v3 - »

money, y= real income. Here f§ shows :

(1) Price clasticity of demand

(2) Income elasticityu of demand for money
(3) Rate of growth of the economy

(4] None of the abave

where P= Price Level, M= Supply of

B s vl 3 g e e 3 2220 - S 9

aif p= A WX, M= gF & O of y- aefas ena a8
qafifer & B -

(1) wfr o S o (2) TR @ AT A ST A
(3] wd=aeen & Rw & & (4) Ui § o Hrg A8

Which of the following truely reflect structural unemployment ?
(1) New entrants into the labour force have trouble finding jyobs
(2) Works are laid off becausc aggregate demand has fallen

(3) Warkers do not have information about job openings

(4} Workers loose jobs as their skill are no longer in demand

: 5 ) PlTl Ol
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Frfafee & & i st e I 1 a9 w1 ¥ =T s
B ?

(1) 2™ ol § 93 T AW AFIEE F A G FRA
B ¥

(2) I HTT B @29 F Foy S B A5 F P Rar
T e &

(3) =Rt @l AT IUSTRe # e Aot TEet
[4) SHH B AN g e o ¥ B e gy

60. Under a fractional reserve banking system , banks are required to :
(1) Keep part of their demand deposits as reserves

(2) Expand money supply when requested by the Central Bank
(3] Keep the volume of credit constant
(4) Neone of the above

% SR o qoelt & ¥t & g gw oTavgs ¥ R o)
(1) AT |9RT O T O ey odf B vy #

(2) mh%mﬁuq{@uﬂgﬁﬂzgﬁm

(3) AT W "AET F R @AY

(4) SUET H A Fnd Tt

61. The classical economists argned that involuntary unemployment
would be ellminated by :

(1} Increase in aggregate spending

(4) Increase in supply of money

(3) Self correcting market forces

(4) Reduction in corporate income tax

»
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g srfanfiadt A o8 o Ran @ afiftes AT T & o
B

(1) g0 =a ® ghe &0

) T H g A R E

(3) @9 GUIrT HTA arft SerT #H AR JR

(4) HAORE g F H FH B

if a commercial bank has nc excess reserves and the reserve
requirement is 10 percent, what is the value of new loans this single
bank can issue if a new customer deposits ¥ 10,000 ?

{1y ¥ 1,00,000 (2) T 50,000
(3) ¥ 10,000 (4) ¥ 9000

afr el aEataE X6 & g o sl Rod w1 8 aur sreeas
frord 10 ofeera & &t ot Bl aosiiemr Er0 € 10,000 S F ST R
e ¥ A T oe &% g FEE WO % 9 8 7

(1) ¥1,00,000 (2} ¥ 50,000
(3} T 10,000 (4) T 9000

Direct tax multiplier that shows the ratio of a change in income to a
change in direct taxes is given by :

SeqE Y O N ST A afad qur g FC 9 & S
it weRfa wvar B awaT AT B -

b o5 " -1
m @ = @ @

27 P.T.O.
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64. According to Keynesian analysis, if government expenditure and taxes

65.

66.

are increased by the same amount which of the following will eccur -
(1) Aggregate demand will increase

(2) Aggregate demand will remain constant

(3) Aggregate demand will fall

(4) Aggregate supply will increase

FHAT R § AqET ot e &Y e a} # w9 aE &
gfE % R ¥ & Prfrfe § Aa-ar swm g @

(1) &5% |1 & gia &Ff (2) HHA HY REw @T

(3) H9W HOT # wHAl EFn (4) @um g 7 gfa @H

If the real interest rate is 5 percent and nominal rate of interest is 7.5
percent the inflation rate must be :

af areAfas ST 5T 5% wur e = 2T 7.5% A g et
W LT BT wifge

(1) 10% (2) 24% 3) 2% (4) 2.5%

Other things remaining unchanged the uncrease in exXpectations of
higher income would cause ME] courve to -

{1) Remain unchanged (2) Shift to the Right
(3) Shift to the Left (4) Become Steep
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g gl % H9E & 9T 3= ATY Hi 9IS B HROT TH.E AR
(MEI) @ :

(1) oufafta @ 2) T|EHT A FEreaiYa g
(3) =18 AT faEgniva &rm (4) JIaU BIAT ST

As the economy nears full capacity, the short run agregate supply
curve ©

(1) Becomes steeper (2) Becomes Flatter

(3) Shifts to the Right (4) Shifts to the Left

AR areferaee Qi F9em @ SR SET BN ¥, SIEIREE qHY
o’ 7 ;

(1) Iy &t AT &

(2) &few 8l Sel 2

(3] FWEN afe farenfue & sl B

@) arft e Rreenia @ o 8

. If the number of people classified as unemployed is 20,000 and the

number of people classific: as employed is 2,30,000 what is the
unemployment rate ?

af FAGMT H B9 7 aiffga St @ T@A 20,000 T [T H
Y v @ =y W aitga @ @ e 2,30,000 B Y AT A
gL R & 7

(1] 8% 2) 8.7% (3) 9.2% 4) 11.5%

2 9 PI-T' 0!
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69.

70.

71.

[f the economy is operating at potential GDP, an increase in the money
supply will lead to : ' '

(1) Stagflation (2] Structural Inflation
(3) Demand side Inflation {4} Supply side Inflation

i YT o g IS WL 9T HH HT W@ 8 O AT # g
7 ghe & ot @&y I et & 7

(1) FTESTIAG EHifer  (2) ETEETET

(3) w1 Afta e (4) ofet 9o ey

An increase in government spending with no changes in Taxes leads
toa:

(1) Lower price Level (2) Higher Bond Prices
(3) Higher Interest Rate (4) Bothland3

wT # BrEl gfa & Rer @l = § 0N awt gfg & wrw
Fr=yferias Iw— 8| &

(1) =1 gima &7 (2) I=9 0% HHEA

{3) 9= &= T (4) 1 oF 3 =

The CPI {Base year 1987){or 1990 is 120, for 1991 is 125 and for

1992 is 130. If the base year is changed from 1987 to 1992 what does
the CPI for 1990 become ?

1990 # Hedlo o (1987 & oMU ¥ & =) 120 ¥ s=i% 1991
& R 1259 1992 & fare 130 &) o anwre af 1987 & qREflT
HT 1992 T Bar AT & 1990 F HrofloaEo fsaem &r ?

(1) 90 (2) 92.3 (3) 108.3 4) 110

30
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72. The quantity of money demanded varies :

73,

(1) Directly with both prices and output

(2) Inversely with bath prices and cutput

(3) Directly with prices and inversely with output
(4) Inversely with prices and directly with output

@ﬂﬁmm%:
(1) #F¥a 0 IOEA @ & T T B9 8

(2) ®Ha Td IEER WY & 9™ HONHE 9 g

(3) e & WY RS aY] SEA W & 6 FHOnE @9 A
(4) Faa & G WO dUF IqEA W & 9™ gArds 89§

Supposc the interest rate is 7 percent and a bend with an annual
coupon of Rs. 75 nature in one years time, paying a face value ol Rs,
1000. This bond's current price is :

(1) Less than Rs. 930
(2) Rs 930 or more but lessthan Rs, 970
(3) Rs 970 or more but less than Rs. 1000

(4) Rs. 1000 or more

o & 3 =aTer &x 7 Wi & ofR s aE e ai® oA Fo
75 & o ad & aafy # oftve #ar B o9y oY L. FE W Wo
1000 ¥ &1 e X1 ¥ ¥ SF H FEHE T 2

(1) &. 930 A € FH

(2) &. 930 41 IEQ A g 5. 970 A FW
(3) §. 970 I1 ITQ Afuw fhg 5. 1000 F FH
(4) . 1000

31 P.T.O.
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74. Which of the following is NOT a function of fiat money ?
(1) A standard of doferred payment (2] A unit of account

(3} A source of intrssic value {4) A store of value

Fr=rfaftae # & @ w21 o oo Jey & 7
(1) R §ae & e (2) &9-89 @5t 2
(3] THT T=® + =49 (4) =9 €E9 H AEH

75. The GDP of a country is Rs. 24,000/- Supply of money = Rs 3,000/-
Price index = 120 and Demand for money = Rs, 3500/-. What will be

income velocity of circulation of money in this economy |
(1) 200 2) 7

{3) 8 (4) Can not say

OF A9 W Aodiedlo 5. 24,000/- g1 ) Ui ©. 3,000/- Aww

TIHE =~ 120 @@ Fa1 A AT 5. 3500/ 59 erd=mwen F qEy
I oo Ay =y el 7

(1) 200 2) 7
3) 8 (4) &8 TE T

76. The domain of definition of the function fix) = log | X!} is :

B flx) = log |X| 3G ST 3 yft|msr 2nf -
1) R ) (~20) @) (0,x) (4] R-[o]

32
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The range of funcuon f(x) = [x-1| 18 :

wET f(x) = |x-1] B g I & e
(1) (—<0,0) 2) {0,) (3] (0.1) (4) R

If f{x) = log 2 (logx), then f(x} at x = e is:

afg f(x} = log 2 (logx) & 1, Tlx),x=e T 8 -

(1) o (2) 1 3) ¥ (4) Y
Given {{x) = 4x8, then
o flx) = 4x8 & :
m t(3)=r (%) @ f(})=-r(%)
@ f(-}K)=r(H) 9 f(4)=r'(")4)
If y=log ﬂ::z) then 2

1-%° dy
ar [l+x’] af ax

3 4 1 -4’
(1) Itxx"’ 2) -1-:‘ (3) 4-x* (% 1-x*
33 P.T.O.
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:
i) logie®[ X< % '
8L | B X+2 equals

d | .el(ﬂ] 4

x| * 1" Lsn gIET BRN
x% -1

[ = (2] 1

(3) Aol N L
-4 (4] x? -4

2
82. f( ,+¢-.)T'd“ will be :

B (e 4 =)

83, 1{ X+Y =8, then the maximum value of XYis:

e X+Y = 8 &, XY & ity sy wnr
(1) 8 2 16 (3) 20 (4 24

34
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2 .
84. The minimum vatue of the function f{x} = 2x-21x +36x-20 is
B fix} = 2xx -21x +36x-20 F Y A W
(1) -128 (2) -126 (3] -12C 4y -110

85, For function Z = ¥?_v? +XV + 5X with constraint X-2Y =0, the optimum
values of X and Y will be :

R T AT Z = XY +XY + 5X s @y X-2Y =0, g, X @

v & oTEay A B
1y X=1,¥=2 (2) X=-1,Y=2
@) X=1Y=-2 4 X=-2,Y=-1

- al
86. A= Gjl]ﬁ - R [H] and (A +B) = A’ +B? then values ofa and b
are .

- l."‘ _
A= (;_:] B = [:_1JH?JT (A+B) =A" + B’ 3'51 a @7 b % A BAL:

(1) a=4, b=1 (2) a=1, b=4
(3) a=0, b=4 4) a=2, b=4
a=|® Plouch that A% 1, then:
87. If y o | ;
a B 3 ’
- A=, g9 |l BT :
A L_ ] & =
(1) 1+ +By=0 2) 1-o’+By=0
(3) 1-a’-By=0 4] 1+o’-py=0
as P.T.O.
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5x T
88. If A y0 and A=A, then :

5
IR A{y;] 3R A=A &

(1) X=0,Y=5 (2) X+Y=5
(3) X=Y (4) X+Y=18

89. Il A is an invertible matrix, then which of the foliowing is NOT TRUE

ggt?saaﬂhmitmt,ﬁaﬁﬂﬂﬁﬁqmmm

(1] (A7) =(a") 2) 1A = (A"

@) (A7) =(a") 4) |A]=0

90, [r5=[alﬂ* then adj A is :
Cd_J &J 18 ©

b
Uﬁs=|::d T adj A BT :

—d~b] d-b db
o ] e K] e ] W[

91. The sum of deviation of a variable to mean is :

ﬁﬂ&maﬁrm%#mﬁﬁﬂﬁwﬁmﬁm:
(1) += 2) -w 3) 1 4) 0
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Which of the following is true ?
Pr & § S9-91 9 8 7

(1) XGM=(HMY (2) GM=VXHM

(@) X.GM=+vHM {4} X.HM=+JGM

¥ <M < Z is an indication of :

(1) Lock of Skewness (2} Positive skewness
(3] Negative Skewness (4) Kurtosis
R<M<Z e 8 ¢

(1) Frewar @ FHE (2) GARHS R
(3) TumeTE Frse (4) QS

The measure of variation that is least affected by extreme observation

1S .

(1} Range (2) Mean Deviation

(3) Standard Deviation (4) - Quartile Deviation
mmﬁmﬁ%wmﬂnﬂﬂaﬁﬁaﬁwaﬁlm% :
(1) R 2) W fa=e

(3) sEq fa=eTT (4} =gd= fraee

Coefficient of variation measurcs the :
(1) Attitude (2) Performance
(3) Sample (4) Consistency

37 PITID'I
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97.

98,

RreEter A9l q1qar & 7
(1) =Esr (2) rerEs
(3) oferef (4) dfer

- The product moment coefiicient correlation (y) is obtained by :

RXY
) 225 S8
AY (2) N.AX.8Y
Xy LxZ
@ 2 @ ey

In a vegrenion line of Y on X, variable X is not known as -

(1) Independent variable (2) Dependent variable
(3] Regresor (4) Explanatory variable
Y WA X, Bgmmamquﬁmm%?
(1) &9 g7 (2) onfye 7
(3) RIee (4) =TEREEH T
In a bivariate regression if Byx <1 then B,. will be :
(1] Less them 1 (2) Greater tham 1
(3) Equalto 1 {4] Equel to Zero
a‘rnﬂ%nﬁrrm%g aR B, <1 & g, BT
(1) o & (2) €= | =
(3) P & s;ET 4) T & gRT

as
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99. If two lines of reregressions are coincident, the relation between the
two regressions colfficients is :

ﬂﬁmmqq{ﬁﬁmimidcmﬁlﬁﬁnﬁm
m%mmm:

(1) Byx =ﬁ:n' (2) Buﬂﬂx?
(3)  Byx=—Puxy (4)  Byx Pxy =l

100. A good index number is one which satistics :
{1) Unit test
(2) Time Reversal test
(3) Factor Reversal test

{4) Time and [actor Reversal test

o STEST GO a8 ¥ o de & §
(1) &g TR

(2) 9T IJTFOGAT T

(3) o IEerETT TR

(4) G @ T Feergdl T

101. Time Revesal test is satishfied when !

9T IEFER T | B & 99
(1) PO1xP10=0 (2) PO1x P10 =1
(3) POlxqlO=1 (4) PO1%ql0=0

39 P.T.O.
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102. For the given five values 15,24,18,33.42, the three Years moving
averages are :

R 13 =it 15,24,18,33,42 ¥y diedta ser-smy @
(1) 19,22, 33 (2) 19,28, 3]
(3) 19,24,31 (4) 19,30,31

303.1n which distribution, mean and variance are equal :

(1) Uniform (2) Binomial
(3) Normal (4} Poisson

P Q Weq & A o gET quey A F
{1} HAHAERR (2) faaw

(3) TEEg (4) OrEEs

104.[n a binomial distribution, the third moment is :

ez dest =1 ety sget ¥
(1} npq {2} pgiq-p)
(3)  npq(q - p) (41 npglq + p)

108. The probability of getting out come of more them two spots in a single
throw of one six faced dice ig :

H:mmwmwmﬁrﬁwzﬂmmmqﬂm
o @9 # o ¥ ?

(1) 1/3 (2} 2/3 (3) 3/6 (4) 1/6

40
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106.Geometric Mean htis rigidly defined, based on all observations and
suitable for mathematical manipulation, but :

(1)
(2)

gives equal weightage to all observations
more weightage to bigger value
more weightage to smaller values

more easily understood and appreciated by non-mathematical
persons

g9t uftreel B ST ey & SRt ®
YT HEd W AR W AR HEwen &Y o @
FH FA H IG B FH AEET & ARA B

A & St et | e ol dieaifes Ae-frgst
Rear o7 |%ear B

107. Harmonic Mean is rigidly defined, based on all observations and
suitable for mathematical manipulation :

(1)
(2)
(3)

(4)

is easy to caloculate and understand

gives greater importance to bigger values

is especially used when smaller values have to be given more
importance

ie greatly alfected by sampling fluctuations

A witreel 3T Iuged R 9T & R 9T SRS ATHT F
gftwnive Rear smar @ ¢

(1)
{2)
{3)

{4

T AR G 9™
SYIET god gl Sl S9R] 78w &
ST & HeY gRil TGl HEd & Bl FHH THE JERT

=yt gfads # 2 g &

41 P.T.O.
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108.A box contains 6red, 5 black and 4 white balls. A person draws 4
balls from the box at random. The probability that there is at least
one ball of each calour in that lot is :

e fEey o 6, SHET AT 4 §B% 9% ¥ e = I 4 Ty e
} Pl Rl ¥ 0@3% 1 3 oH-0s W B W i ¥ o

(1) 0.33 2) 0.66 (3) 0.4748 (4) 0.5275

109. Sixty percent of the employees in a company are college graduates,
Of these, 10 percent are in sales department, Eighty percent of non-
graduate employees are in sales. Probability that an employee picked
up at random is in sales is :

O FHET & 60% HHETH s B 39 | 10% sy R F k)

80% R Eaw weerd Rt & ¥ o st B Relt § w93
STafeeRaT 8 -

(1) 0.18 (2) 0.82 (3) 0.38 (4) 0.62

110, Expected value of a sum of random variables is :
(1) preduct of their values (2) average of their values
(3) sum of their expected values (4] sum of their average

=0 A" & T o STt we R
(1) FEH A & TTHA (2] IO A= o Ew
(3) IS A ¥eg W 4rT (4) SEd wa @ T

42
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111. A random vaﬁable is also called a :

(1) Discrete Variable (2) Continuous Variable
(3] Stochastic Variable (4) Intergral Variable
T ew ARAw A g5 A wEr o ¥

(1) TEepie AdAger (2) TgT INA=T

(3) ErwiRes A= (4) e ARA=w

112, A continuous function defined over a closed interval [A, B| will possess
the minimum value at point A ; |

(1) ifdy/dx=0atA .
(2) ifdy/dx >0 atA

(3) if the function is strictly increasing over the interval

(4} i the fuction is nonp-decreasing at A

{A,B]ﬁﬁﬂﬁﬁ%%%ﬂ“ﬁﬁﬂﬂﬁﬁ’iﬂﬂm:
(1) 4% B A 97 dy/dx =0

(2} IR &g A 9% dy/dx»>0

(3) A BRI T =RE W g Fifteg el 2

(4) M g A T FAT I emdd & '

113. When determinant of a matrix is equal to zero the matrix will be :
{1} an augmented one and row operations will help you inbert it

(2) singular and underlying system of equations will admit a unique
solution

(3) singular and it will not be possible to solve the system of
equations

(4) system of equations will be compatible

43 P.T.0.
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g% ‘e SR @ W @t A I A oTegE #
(1) gﬁnﬁﬁtaﬁtﬁﬁaa‘m%sﬁmﬁ(m)ﬁmmm
|

2) o X o TS Wil @ ik & evT |
(3) whw & ol sEe aeiEt W ae Ewa A ¥
(4) BT, HW B |

114, An identity matrix has :
(1) identical numbers as clements

{2) numeral one at leading diagonal, rest of the elements can be
any real numbers

(3) numeral one at leading diagonal, rest of the elements are all
Zeroes

(4) zero at the leading diagonal, rest are all equal to one

0§ GegE |
(1) @it orEyE v B B

2) £HS TF Reet ot oW SaTE ofF 1 auT Y W $1EET T
ot arafaE doa ol ¥

(3) qutmwﬂﬂTmmmmaﬁm)

(@) sEd REd UT wW SEud SiE g (0) a9 T W ®A
T 3w 1 B ¥

118, Coefficient of correlatin measures :

(1) tendency of two sets of data to mave together
(2} ratio of variances of two variables

(3) dependence between two variables
(4) difference between slope and intercept

44
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HEE=Y TvTi% Hqar ¥

(1) 998 & a1 B 3y R 2
(2) T ARAw B Rrereer & srqur @
(3) @ RERer & dg wmafig B o)
(4) IO W I B A sy @y

116.In which of the following growth models human capital plays an
important role ?

(1) Neo classical Model

(2) Endogenous Growth Model
(3) Marxian Model

(4} Harrod-Domer Model

1ﬁmﬁi¥iiﬁ%ﬂt&ﬁ1ﬁﬂ*ﬂﬁﬁfﬁ?ﬂﬁﬂ:§?ﬁéﬁaﬁqifnavrqasqﬁﬁngﬁ
T a1 ey ® -

(1) =4t F=niRres d=w

(2} T=fFga @ gt

(3) =g Htew
(4) BMzT-mT At=q
117. Who developed the Physical Quality of Life Index (PQLI) ?
(1) Gadgil (2) Chakravarty
(3) Morris (4) Bhagwati

FeRTreT Feferdy oifes omgws = (forgoqmtonmdo) B zra
Rt forar ar

{1) sl (2) SeEaet
(3) #HfRe (4) =

45 P.T.O.
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118.Sen's measure of poverty includes :
(1) The Head Count ratio
(2) The Head Count ratio and the poverty-gap ratio
{3} The Head Count ratio and the distribution of income among the

poor
(4] The Head Count ratio, the poverty-gap ratio and the distribiution
of income among the poar

9 & THA A= o whwfea # o

(1) = &= wma< A

Q) =T BT Fe= WA oI g 9 wEHE

(3) z %8 FHI= TR o whEr @ diw o R

(4) 1 ¥T Hrow YW gEd oK W W ™ RS # 9
g farRTTeT

119. According to Solow, the long-run rate of growth in an advanced
economy equals Harrod's :

(1) Natural Rate of Growth

(2] Warranted Rate of Growth

(3) Actual Rate of Growth

(4) Warranted Rate of Technical Progress

Het & STETT BN srdEen § R # T oEfy @ a1 ElE
# FET Bl B

(1) ﬁﬁl‘ﬂﬂ'ﬁmﬁﬁlﬁﬁ'{ (2) FAR=T I AF Ay
(3) R & TREER (4] AT T IS 2R G
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120. Balanced growth means :
{1} Equal percentage growth in output in all sectors of gconomy
(2) Equalincrease in resources allocated in all sectors of the ecanomy
(3) Balanced development of different sectors of economy
(4) Equal development of different sectors of economy

HIRE T @ o
(1) Fd=maeer § AR O A a9 Rreeresy

(2) STd=EEn & Peelt @ & wafm % @ wwe F ghs
(3) SEEEn § Ry & § dgfera R
(4} wdEmEn & R &3 § auw few

131. Interaction between Multiplier and Accelerator leads to generation of
continous cyclical fluctuation, is stated by :

(1) Harrod - Domer (2) Kaldor - Mirlis
{3} Samuelson - Hicks (4) John Robinson- Sraffa

¥R Prefm Afewrat o difder fgw 7 o offe
FERUY, o7 RIT FE

(1) ¥z - Sz (2} HEET - Prferw
3) ¥geE= - M (4) o afRrEe q10%
133. Solow residual is a measure of :
(1) Total factor productivity (2) Technical Progress
(3) Degree of ignorance {4) None of the above
& Wergge =gar ¥
(1) B[ W@ IEEHT (2) TRl STy
(3) Bl oty (4) Soa=a § +ig 7
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123, Consider the following assumptions :
{1} Production includes only wages and profit.
(2) Investment Production ratio is an independent variable,
(3) MPS and MPC are constanis.
(4) These are below perfect employment.
Which of the above are true for Kaldor's growth model ?
(1) landlV (2} NandIll
(3) IHland IV (4) landTl

FTEEST & HENET CHAEA

(1) ImEd § fae wogd o sw aftnfaa & @
(2) fafm saee omum B B ey aftdew

@) @ 9 om T o o f @ Re B

(4) & goier Jorme & M B

gqlEe ¥ @ B9 Pt @ R Atsw F agEr we B
ay [ el v (2) 1 ST I

3) m v 4 13T n

124.Consider some of the factors related to economic growth :
{1} Larger inputs leading to larger output
(2) Technical and institutional changes by which output is produced
(3) Level of efficiency and skill producing larger output
(4) Diversification of output
Of the above, economic grwoth includes
(1) i,liandiv (2} 1 and iii only

(31 1,1l and iii (4) 1, 1, iii and iv

48

e collegedunia:

India’s largest Student Review Platform

—



15P/239/31

(1) i, i o iv 2) i AT iii Paw
(3} i, i ST s (4) 1, ii, it 37 iy

125.The hypothesis of 'vicious circle of poverty' points to inter-relation
betwen :

(1} Productivity and Income

(2) Income and Popuiation

{3} Inflation and High Consumption

(4) Surplus labour adn disguised unemployment

"ﬁﬁﬁﬁﬂﬁaaﬂqmﬁ’qﬁﬁlﬂémmﬁ ERIGHE
(1) Ioorsmar i smg

2) ™ AN weEE

(3) Heagfx ofT S= avdnr

(4) AT Forgh I ez e

126. Which one of the following aspects was NOT emphasized by Hirschman
in the theory of unbalanced grwoth ?

(1) Backward and Forward Linkages
(2} Direct productive activities

(3] Social overhead Capital

(4) Equilibrium in different sectors

49 P.T.0.
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' ﬁ'ﬁﬁm%ﬁmmﬁzﬁﬁﬁﬂmﬁmﬁﬂfﬂﬂﬁﬁﬂm
4 &t f&ar a1 o

(1) fesr oY orrEr R (2) TEYEe sefrea e
(3) Erer SRS HUEH 4) fafE= fF | 905

127. According to Marx, increase in the organic composition of capital leads
to :

(1) Increase in the rate of growth of economy
(2) Increase in employment

{3} Decrease in the rate of profit

(4) Increase in the rate of profit

e & orET ol B o AR § e SRR Fw
(1) onfds e &t T # 3R (2) = 7 FhE
(3) @™ & X ® PRET (4) = @ & H g

128.Sustainable development addresses :
(1) The needs of the present generation
{2} The needs of future gencraﬁnn

(3) The needs of the present generation without compremising the
needs of the future generation

{4) The needs of the future generations, without compromising on
: the needs of the present gheneration .

Feae Yaeui neifa F ¥
(1} ATAH AL H AT
(2) WSy SR A SEIIEt

(3) Ry ST A STEEEAT @ §HEey HY geaE FeE #+
IEFIHAT &

(4) T adam e gl sAreEeT § gEeT B Afas wl
rsaEar H1 Frarea
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129. Proper "Knife-edge” problem . refers to :
() g, =g,
(2) Independence of g,and g
(3] Inherent instability of g_ itself |
(4) Instability of g and £,
ST STEHT’ AT I E
(1) g, # &,
2) FRITH g g ol g |
(3] FEI=T 7 BB af g FeHTh
(4) FTRERREE % g andg

130.Who developed the theory of technological dualism : -

{1} Benjamin Higgins ‘ (2) W.W.Rostow

(3) Kaldor (4) Keynes
'ﬂﬂﬁméﬂmhamﬁﬁm’ﬁiﬂ%mmﬁnﬁ:
(1) F=mE+s g (2) I=g-m=g Jorr

3) F=T 4) Py

131. As per the 2nd advance estimates released by Ministry of Agriculture

of February 18, 201 5, production of total food grains during 2014-15
is estimated at :

ts,mﬁzmsﬁzﬁhwm%ﬁummﬁzmﬁw
T STHT 2014-15 ? BT W B S oy

(1) 247. 1 million tonnes (2) 257. 1 miilion tonnes
(3) 277. ! million tonnes (4) 237. 1 million tonnes

51 | 2.T.0.

»
collegedu nia
o - India’s largest Student Review Platform

el



15P/239/31

132. Put the following in sequential arder of development :

(l Planning Commission ) Mahalanobis Model
(i) Plan Holiday (IV] Rooling Plan
PR % STETC I REE SR S

(1} G SRR  (2) wERIAITRE HISA
(@) W FRS (4) AR =

{1} u,mLIv () IV,

(3) 11,111V (4) .1, LTV, I

133. Consider some of the following Acts to reguiate industries and foreign
exchange in India !
(1} Foreign Echange Management Act
(2) Industrial Development and Regualtion Act
(3) Monopolies and Restrictive Trade Practices Act
(4) Foreign Exchange Regulation Act
Arrang,mgmcahwcammcmmolngwalmd:r Ltlcomrmtmqumccm
(1) NL1,IVandl (2) I,HLIVandl
(3y 1, IV, andl {4y 1,IV,[Mandill
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134. Which of the following statements is incorrect about the success of
economic reforms in India ?

(1} Benefits of demographic diviends

(2) Increased share of corporate sector in Gross domestic Savings
(3) Decrease in deficit of Current account

(4) Slowing down of Population growth rate

W S AR W ahee @ At § fvr-ar wew v @
(1} e oite Simiier Rk

(2) TH XY T A FHredte g B AW F ghn

(3) =Y @ F BN B wwW Fw

(4) TFEBA-ET H A\ S

135. Components of Physical Quuality Life Index are :
(1) BSickness
(2) Infant Mortality
(3) Life expectation at the age of one year
(4) Literacy at the age of fifteen years

FR=E e ERE Faind TE 2w ane
(1) e

(2) " F Fge

B) =% ¥ N IA 97 ST Fg=w

(4} 9% a¥ %I IH 9T R %

(1) LHIandIV are correct (2) I, 1T and IV are correct
{3) 1, 1fand 111 are correct (4} IV,1and Il are correct
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186. Which of the following are not component of BHARAT NIRMAN ?
(1) Rural Housing (2) Rural Electrification
(3] Agriculture based Industries (4) Rural telephone Service

Refaige & & AA-a1 wRg Brafo & ae T8 ¥
1) - wrereT A (2) Friver Rt
(3) HR SraRa IAT (4) TEAET T wE /4

137.Grass Root Planning refers to :
(1} Panchayti Raj
(2) Land Revenue System
(3) Community Development Programme
(4) Prominence to Sectoral Priorities

ﬁmmﬁmﬁrnmfﬂamﬁt:
(1] gEE O 2) &= =g R
) SEREn e Qe (@) SPER T aEw B

138. Which one of the following is not a source of income in central inance
sanctioned by the constitution of India ?

(1) Corporation tax (2) Custom duty
(3) Income tax (4] Land Revenue

T B " ay Preitey & @ #W § 9 R amo o #
wftafere =ét fear T 3

{1y s &2 (2) =T ¥
(3) SAGHT (4) 9 T
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139, Pcint -

development were introduced :

(1)
{2)
(3)
(4)

Per-capita Income, HDI,PQLI
PQLI, HDI, P;er—capita Income
HDI, Per-capita Income, PQL]
Per-capita Income, PQLI,HDI

-15P/239/31.

out the correct order in which the following measures of

mﬁﬁm%mﬂﬁmmﬁﬁwﬁ%Hﬁm

(1) R omg, o € ond, & &y oo ond
2) 9 =g aw o, vy g ond, afefam oy
3 TF € oonE, wReRE e, f g o ond
(4) wir=ElRR ona, § g od o, o # e

140. Match the following and select the correct answer from the code given :

Bet-1

(1)
(2]
(3)
(4)

(1)
(2)
(3)
4}

Rangrajan Committee
Narsimhan Committee
Kelkar Committee

Malhotra Committee
Codes :

a b
11 v

i 1ii

il i

ii

1il

11

i

56

Set - Il

Tax Reforms
Insurance Reforms
Disinvestinent

Financial Sector reforms
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%ﬂ:mﬂyﬁmmymmﬁuﬁwalw
| |

]T I |E 1
(1) broeE afufs HY GuUR
(2) =GHE Wil a1 garl
(3) Hewpy wfAfy R -
(4) weSEn o frefrg &3 & @art
BT

a b c d
(1) iii 1w i it
(2} i G i iv
@3 i i i iv
(4) ii i v iii

141. Second Five Year Plan was based on the model developed by :

(1) C.H. Hunumatha Rao (2) P.C. Mahalanobis

(3) AK. Sen (4} K.N. Raj

fr 9w adirg O eae o Rl dtgd 9@ A ot
(1) ®.g9. sgHaE (2) .. aeaieE

[@3) T8 (4) F.GH. THA

142, Consumption sub-model was introduced in Indian Planning for the
first time in preparing which plan :

(1) 'Third Plan (2) Fourth Plan

(3) Fifth Plan {4) Sixth Plan

R Wl 3o ° 9T @] q9 @ 00 U9 O e O
qE® B FEIEgH [Bhgr T4

(1) TG T (2) wgd g
{(3) 9EH QT - (4) SSdt TR
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143. Match the following and select the correct answer from the codes

given ;
Group - I Group -1

{1) Revenue Deficit Government Borrowings from the RE|

(2) Fiscal Deficit Revenue Expenditrue minus Revenue
receipts :

(3] Primary Deficit Fiscal deficit minus interest Payments

(4) Monetized Deficit Total expenditure minus non-debt
receipts

Codes :

2 b ¢ d

{1} ii i iii i

(2) i i v |

(3) i il v i

4y i i ii v

F1 & gifee =3 g2 i RY @ w8 3ot @ oty -

TIE- 1 : TE- 1

(1) Ve ey ST S TR H \TERT 21 R

(2 i gm= TSHE = gary Iorg mifey

(3) mEFH Bwifye el 2T 92l = g

[4) HFeETSS Smfae T O weT & I B S gy

8 b ¢ d

{1} ii v iii ]

(2) i ii iv i

(3) it 1ii iv 1

(4) i i il v
§7 P.T.O.
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144. Which one of the following is NOT a measure of Globalization ?
(1) Reducing peak rate of customs duty
{2} Size of inflows of foreign institutional investments in a country
(3) Disinvestment of public sector equity
{4} Larger foreign aid
Rpif # #iw Ao @ WO T 2
(1} @ e @ I I W AER
(2) 2q1 A el deera PR & oW W i HmE
(31 AEwiE & & Hu & fafrEd B
@) =1 fAReh s wEEd

145. The first Industrial Policy Resolution was presented in @

qean ot ffa st few od H Oega R T e
(1) 1947 (2) 1948 (3) 1949 (4) 1950

146. Which of the following is not the main head of expenditure of the
central government ?

(1) Defence expenditure (2) Interest on loans

(3) Grants-in-aid {4) Public health

Pret & & @ S TR & T &9 & F didw Tl R 7
(1) gur =9 (2) PO 9T AT
(3) e (4) WS
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147.Which of the following is a direct method of reducing economic

inequalities ?

(1) estate duty (2) wealth tax
(3) capital gains tax (4) ceiling on holdings
N R i #9 H @ dft Bf S B
(1) FRT FE (2) TR a7
(3] e = Tom (4) T ot Ay

148.The highlest area under irrigation is in the state of :

(1} Uttar Pradesh (2) Bihar
(3) Andhra Pradesh - (4) Punjab
e NeT Rt dax Sy o & X

(1) TET BT (2) Tame
(3) ATT WAST (4) o

149.The maximum area under crops in India is used for the cultivation of :

{1} Wheat (2) Rice
(3) sugarcane (4) Cotton
RE 7 B wOT o send |99 ST 895 F % o 3
(1) % (2) =E
(3) =T (4) w9
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150, Devaluation of rupee z;lakes :
{1} Indian goods cheaper to Indians
(2) Indian goods dearer to Indians
(3) Indian goods cheaper to foreigners
(4) Indian goods dearer to foreigners
s # fEe 9t ¥
{1y A geg A & R
(2) WA gy |at & e AR
@) wrhir Feg R & Rg awh
(4) wrefig aeg FRRE # g Raw
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ROUGH WORK
TR et

61 P.T.O.
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Frenféar % o Fw
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w7 fiaa e & 10 e & s ff 3 R e F e ge g @ o
¥ G2 A6 21 TReE QYT T I W G YE aewe S frie & S Wl
7YY & gEd e aa &
W W d Rrwrer wiw wiv-ox & S, iﬁmmmﬂﬁq&rmm
% 7 @
Fere-ux vy @y war ;#:mﬁm:mmm T Sw- o 97 frer W)
Hwr 3wT-0% w7 W g e
mmwmmmmﬁmmawmwﬁﬁﬂf&nmmm|

ITT-9F & FuT g U 37 | JGHN AFwArw o wra o et war i ot e’ w

ez w7 & oyl- ot smerew gt ayt - greeT o oI AT e W7 T e ey
v fra

Fle UHo WTo UF UT SFHATS WOwW, mm:mmmwm rar
yyTglRre o7 Sywae ST e YWe Sre uy wuwr wi niwlirel ® auftviey wY wywi
T i

Fugh araEer ¥ ®iy of oftenls way A grer sarfme giar wifyR srrar 9 Q% i
AT WT NOHT WEAT AR

v gfeer &y w9 & wre dwilw oy i R 1 e e & AR 3T & g
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¥og e & 3 ¥ fog Faw ow ff e & e &) ©E 4 s o | o s
W YT TE g @AY WA W AR I TG WA A

T § % % 2wt o dfeer swe wgen o awm §) ft sra et e ey oo

q37 g wan & m einfiry Y & wrmd Ak o et gt ot @t ol A @ Tl ov e
Fw 3R o

W FY & Y -7 & gEYS ¥ S A 7S 99 I-yfew & 3ifim ge
F Y I

e 3 ITUNT d9w W oW Hrv Iwv-oy I0an waq ® 9w & ¥
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